

SITRICK AND COMPANY

A Unit of Sitrick Brincko Group, LLC

A Subsidiary of Resources Global Professionals

April 07, 2011

Invoice submitted to:

Jeffrey Epstein
via email: littlestjeff@yahoo.com
CC: Jay Lefkowitz, P.C., Kirkland & Ellis LLP
601 Lexington Ave
New York, NY 1022-4611

In Reference To: Jeffrey Epstein

Professional services and expenses through: 3/26/2011

Professional fees	\$70,255.00	
Expenses *	\$1,064.07	
		<u>Amount</u>
Current professional fees and expenses		<u>\$71,319.07</u>
Balance due		<u>\$71,319.07</u>

*Expenses may reflect charges from a prior period as well as the current period

Terms: Due upon presentation

Please Remit Payment

Wire funds to:

SITRICK BRINCKO GROUP, LLC
City National Bank
ABA# 122 016 066
Credit A/C 023868806
Attn.: Dave Nathan

Send checks to:

SITRICK BRINCKO GROUP, LLC
File 1102
1801 W. Olympic Blvd
Pasadena, CA
91109-1102

Federal Tax ID 27-1263368

1840 Century Park East, Suite 800, Los Angeles, CA 90067
Tel (310) 788-2850 Fax (310) 788-2855

EFTA00604136

SITRICK AND COMPANY

EPSTEIN, JEFFREY

Invoice through: 3/26/2011

Page 2

Professional Summary			
Name	Hours	Rate	Amount
MICHAEL S. SITRICK	55.75	895.00	\$49,896.25
TAMARA TAYLOR	0.50	550.00	\$275.00
THOMAS S. MULLIGAN	11.50	595.00	\$6,842.50
TONY KNIGHT	20.00	595.00	\$11,900.00
JEAN S. TRINH	6.50	185.00	\$1,202.50
LIZA C. NEDELMAN	0.75	185.00	\$138.75

Professional Services

		Hours	Amount
3/7/2011	MSS Discussions with Jeffrey and Martin; review various materials; discussion with Today Show producer; draft and revise statements; strategy development with team and T. Knight.	5.00	
	TK Planning and strategy with MSS; internet research on coverage of the Prince Andrew stories; directing efforts of J. Trinh on collecting clips, and review of some of the clips; review of prior records from 2007 and report to MSS; review of [REDACTED] police records; confer with J. Trinh.	3.25	
	TSM Confer with T. Knight about starting early on Tuesday morning to field calls from British media; review media and other background to prepare.	1.00	
	JST Discussion with T. Knight re: clip searches.	0.25	
3/8/2011	MSS Various discussions and emails with reporters, Jeffrey, Jay Lefkowitz, follow up re: same; confer throughout the day with T. Knight and T. Mulligan.	6.25	
	TK Early morning follow ups with journalists in the U.K. regarding the Prince Andrew story and provide the statement; directing efforts of Sitrick executive T. Mulligan in NY office re follows with UK journalists; planning and strategy with MSS; read and respond to emails from MSS regarding news coverage and his communications with client and attorneys; review of second day coverage and locating The Mail inaccurate story about phone logs.	3.75	
	TSM Review media, incl clip from NBCs Today Show; follow up with media, sending statement and fielding interview requests throughout morning from two reporters at Mail on Sunday, two others at Telegraph; confer on same throughout day with T. Knight, MSS.	4.50	
	JST Research US and UK clips on Epstein and Prince Andrew; email to T. Knight.	1.50	
3/9/2011	MSS Review and respond to email throughout the day, phone conferences, work on strategy, discussions with Jeffrey, lawyers; review various materials; discussion with defamation attorneys, PR affiliate in London; follow up re: same.	7.00	

SITRICK AND COMPANY

EPSTEIN, JEFFREY

Invoice through: 3/26/2011

Page 3

		Hours	Amount
3/9/2011	TK Read and respond to emails from client and attorneys; planning with MSS and comments to him on various versions of the statement; continued review of coverage; confer with T. Mulligan.	2.00	
	TSM Review Mail story; confer with T. Knight, MSS re: next steps; take interview request from J. Swaine, Telegraph, and forward to T. Knight and MSS.	1.50	
3/10/2011	MSS Review and respond to emails; phone discussions throughout the day and into the night from media, Jeffrey, lawyers, defamation lawyers in US and UK; strategy development.	7.25	
	TK Review of coverage; planning with T. Mulligan and discussion of The Daily Mail coverage and recent request for answers; briefing MSS and forwarding Daily Mail message to client and attorneys; phone call with A. Wolfe of Newsweek, fact checking, draft fact check questions for MSS and client.	2.75	
	TSM Review media; field interview request from London Times reporter K. Mansey; take call from and exchange follow up email with S. Churcher, investigative reporter for Mail on Sunday, regarding supposed FBI investigation surrounding prominent friends of J. Epstein; discuss request with T. Knight, MSS.	3.50	
	JST Research clips on Epstein and Prince Andrew for T. Knight.	1.00	
3/11/2011	MSS Review and respond to various emails; draft script for video; strategy discussions with T. Taylor and T. Knight.	4.75	
	TK Review of coverage and report to MSS; responding to U.K. media calls; review strategy memos from MSS.	1.75	
	TSM Review media; compile media contacts to date and exchange with T. Knight.	0.50	
	TT Discuss media strategy, possible video with MSS.	0.50	
	JST Review coverage on Epstein for bylines; research US and UK media contacts for T. Knight; research News of the World story.	2.25	
	LCN Assisted J. Trinh on compiling media list per T. Knight	0.75	
3/12/2011	MSS Various discussions with Paul Tweed, Jeffrey Epstein; work on strategy; review documents and news clips; follow up re: same; review and respond to email.	4.75	
3/13/2011	MSS Review and respond to email re: Daily Mail, strategy and Fergie; work on letter to Telegraph; email to Paul Tweed, Jeffrey; follow up re: same.	4.75	

SITRICK AND COMPANY

EPSTEIN, JEFFREY

Invoice through: 3/26/2011

Page 4

		<u>Hours</u>	<u>Amount</u>
3/14/2011	MSS Review and respond to email re: Telegraph, Sunday Mail; discussion with Mark Bolland in UK; email to and from Paul on letter; review various clips, email to and from Jeffrey; work on media strategy with T. Knight.	6.75	
	TK Review of coverage and forwarding key clips to MSS; planning media strategy with MSS.	1.75	
	JST Research UK and US media contacts for T. Knight.	0.50	
3/15/2011	MSS Discussions and email with Mark Bolland; draft letter to Mail; review and respond various emails with Jeffrey; calls to Marty Weinberg and Jay Lefkowitz; work on statement for Fergie; review various materials, work on ongoing strategy, review op-eds and other approaches; strategy discussion T. Knight.	6.00	
	TK Review of media coverage and forward key clips to MSS; strategy meeting with MSS; drafting strategy memo proposal and send to MSS.	2.50	
3/16/2011	MSS Review and respond to emails including from Paul Tweed.	0.50	
3/17/2011	MSS Review and respond to email from Paul Tweed, revise suggested statement for Fergie; review materials.	1.50	
	TK Review coverage; phone conversation with Kate Mansey of Sunday Times; review of recent Mansey stories; report to MSS.	1.50	
	JST Research Kate Mansey clips in the Times for T. Knight; research media contacts for list.	0.50	
3/18/2011	TSM Field call from A. Witheridge, Mail on Sunday, re: J. Epstein colleagues S. [REDACTED], S. Cowles.	0.50	
3/23/2011	TK Review on going coverage in Miami Business Review and UK print and report to MSS.	0.75	
	JST Research most recent clips on Prince Andrew and Epstein; email to T. Knight.	0.50	
3/24/2011	MSS Respond to email from Jeffrey, draft note on media strategy, calls to Jeffrey and Paul Tweed.	1.25	
	Total time charges	<u>95.00</u>	<u>\$70,255.00</u>

SITRICK AND COMPANY

EPSTEIN, JEFFREY

Invoice through: 3/26/2011

Page 5

Summary of out-of-pocket expenses

	<u>Amount</u>
ON-LINE RESEARCH	873.00
TELEPHONE	<u>191.07</u>
Total out-of-pocket expenses	\$1,064.07

SITRICK AND COMPANY

A Unit of Sitrick Brincko Group, LLC

A Subsidiary of Resources Global Professionals

May 03, 2011

Invoice submitted to:

Jeffrey Epstein
via email: littlestjeff@yahoo.com
CC: Jay Lefkowitz, P.C., Kirkland & Ellis LLP
601 Lexington Ave
New York, NY 1022-4611

In Reference To: Jeffrey Epstein

Professional services and expenses through: 4/23/2011

Professional fees	\$23,171.25	
Expenses *	\$5,000.00	
		<u>Amount</u>
Current professional fees and expenses		\$28,171.25
Previous balance		\$71,319.07
Balance due		<u>\$99,490.32</u>

*Expenses may reflect charges from a prior period as well as the current period

Terms: Due upon presentation

Please Remit Payment

Wire funds to:

SITRICK BRINCKO GROUP, LLC
City National Bank
ABA# 122 016 066
Credit A/C 023868806
Attn.: Dave Nathan

Send checks to:

SITRICK BRINCKO GROUP, LLC
File 1102
1801 W. Olympic Blvd
Pasadena, CA
91109-1102

Federal Tax ID 27-1263368

1840 Century Park East, Suite 800, Los Angeles, CA 90067
Tel (310) 788-2850 Fax (310) 788-2855

EFTA00604141

SITRICK AND COMPANY

EPSTEIN, JEFFREY

Invoice through: 4/23/2011

Page 2

Professional Summary				
Name		Hours	Rate	Amount
MICHAEL S. SITRICK		13.75	895.00	\$12,306.25
TONY KNIGHT		8.25	595.00	\$4,908.75
BRIAN D. GLICKLICH		2.00	550.00	\$1,100.00
AARON CURTISS		9.25	525.00	\$4,856.25

Professional Services

		Hours	Amount
3/28/2011	MSS Review, respond and send various emails.	0.75	
	TK Email to attorneys requesting information, read and respond to emails from MSS; respond to client emails.	0.50	
3/31/2011	MSS Review and respond to emails re: op-eds; review materials/back up documents for op-ed.	0.75	
	TK Briefing A. Curtiss on op-ed project, marshaling backup documents for A.Curtiss; emails with MSS.	1.00	
4/1/2011	TK Further discussion of strategic approach to op-ed with A. Curtiss; review first draft of op-ed.	0.50	
	AC Research media coverage and court history of case; draft and edit op-ed response; confer with T. Knight r:e same.	7.00	
4/3/2011	MSS Discussion with Roy Black.	0.50	
4/4/2011	MSS Review Newsweek/Daily Beast article, discussions with reporter, call to editor, draft note for Roy Black to review, discussion with T. Knight.	3.75	
	TK Multiple phone calls and emails with MSS regarding correction of story posted to The Daily Beast; review of story, draft correction request; phone calls to reporter A. Wolfe, emails with R. Black and J. Perzcek at Black's office.	2.25	
	AC Review and assess DailyBeast article; confer with T. Knight re: changes to op-ed.	1.00	
4/5/2011	MSS Review materials; review and comment on op-ed; email to Paul Tweed.	2.00	
	TK Op-ed strategy with A. Curtiss.	0.25	
	AC Confer with T. Knight re: facts of case and status of op-ed.	0.25	

SITRICK AND COMPANY

EPSTEIN, JEFFREY

Invoice through: 4/23/2011

Page 3

		<u>Hours</u>	<u>Amount</u>
4/6/2011	MSS Review various materials; review and edit op-ed; work on digital strategy; review and edit memo on same; discussion with Roy Black.	4.75	
	TK Planning and strategy with MSS; conference call with MSS and R. Black; review of older Epstein case news clips and revisions to op-ed and further edits to it after MSS edits; review of strategic digital media proposal.	2.50	
	BDG Call and email with MSS, draft best practices memo.	2.00	
	AC Confer with T. Knight re: op-ed; review edits and changes to same.	0.75	
4/7/2011	MSS Strategy discussions with T. Knight re: op-ed placement.	0.25	
	TK Planning and strategy with MSS; discussion of op-ed placement; further review of old files for more on Ashley D.; review email from R. Black.	1.25	
	AC Confer with T. Knight re: op-ed and plea documents.	0.25	
4/19/2011	MSS Email from Roy Black and his partners re: media inquiry; call reporter at Roy's request (DBR), participate in interview with reporter and Roy, review and respond to email re: same.	1.00	
	Total time charges	<u>33.25</u>	<u>\$23,171.25</u>
	Summary of out-of-pocket expenses		
	OTHER		<u>5,000.00</u>
	Total out-of-pocket expenses		<u>\$5,000.00</u>